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                                               KEY AND MARKING SCALE 

PLEASE ACCEPT ANY APPROPRIATE ANSWER NOT MENTIONED IN THIS KEY. 

   I.   COMPREHENSION                                   (15 POINTS) 

Testees shouldn’t be penalised for spelling or grammar mistakes in the comprehension section. 

A. THE BEST ANSWER.    (2 pts)      b: a challenge to Morocco 

B. TRUE / FALSE. Justify.  (2 pts) 

1. F. Ahmed Akartit is an engineer in a mobile phone company in Rabat. 

2. F.  in Europe these engineers will receive salaries ten times higher than what Moroccan private  

         or public firms can offer them.   

C. WH - QUESTIONS.  (3 pts ) 

1.  He  warned against the negative impacts of brain migration on the development of Morocco 

2. ... about 1,000,000 Dhs. 

3. They have worked hard to build a successful career and returning home would be risky and uncertain. 

D. SENTENCE COMPLETION.  (2pts) 

1. . . .it has to reduce the high rate of unemployment ... 

2. . . .cares for its experts and grant more importance to scientific research./. takes full advantage of existing 

opportunities. . . 

E. WORD REFERENCE (3 pts)    1. ElMandjra     2. engineers   3.Morocco  

F. WORD  MEANING:   (3 pts )           1. waves          2. expertise         3. grant 

II.    LANGUAGE                            (15 POINTS) 

A. GAP FILLING.      (2 pts)    1. looking          2.   having 

B. CORRECT FORM.      (2 pts)          1. clarification               2.  humorous  

C. GAP FILLING.      (2 pts)                        1. who        -         2.  where    

D. REWRITING SENTENCES. (3 pts) 

1. Youssef said he would take the tram. . . .  

2. Mobile phones mustn’t be used during the flight (by passengers). 

3. If Badre had got a bank loan, he could/would have been able…. 

E. BLANK FILLING. (2 pts)       1. needn’t       2. travelling 

F. FUNCTIONS    1. b   2. c   3. d    4. a 

III. WRITING     (10 POINTS) 

 

 

 

  

 

 

 

 

 

 

 

                           Scoring criteria Scores 

Relevance of content to the tasks (3 pts) 

Paragraph and composition organisation (2 pts) 

Appropriateness and variety of vocabulary (2 pts) 

Accuracy of grammar (2 pts) 

Mechanics (spelling, punctuation, capitalisation) (1 pt) 


